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Unit 5 Functions and Sequences

PERIOD: DATE:

NAME:

Homework Problem Set
Q,:-FC\B-‘J d=Ll

Then use the

Write a formula for the n*" term of the arithmetic sequence 1, 5,9, 13, .......

formula to find f(20).
: Claey=1+4 (20D
£ = 1+4(n) = 14 1ay

oR ‘
FCny=-3+4n 0= |

Find the f(8) of the arithmetic sequence when f(1) = 4 and whose common difference is —7.

0=y d=-] £8)= 4-1(8-1)
flny= Y-7(n-0 = U-70C1)

OR. = 4-U9
FOA) = 1 (=N [ECR) = -4g)

3. Daniel gets a job with a starting salary of T— ‘
$70,000 per year with an annual raise of
$3,000. What will Daniel’s salary be in the 10 / - 1’
= . _

1.

2.

year? Write an explicit formula and then solve.

L)< 10,0001 2000(N-1)

OR
+(n) = 61000 +_3000n

[To)= $97,000 |

4. Save-A-Lot Theater ticket prices were originally $1 each. Prices have
risen by 50 cents each year since. What is the price of a ticket 8 years

later? Write an explicit formula and then solve. L7

F(\=1 d=0.90 O th temd

(= | +.500) . i
\O\Q £(a)=-9 5 g \

Lln)=.5+.9n
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5. The graph shows how the cost of a snowboarding trip

depends on the number of boarders.

A.

Cost in Dollars f(n)

Fill in the chart of the data.

Snowboarding Costs
200

175

150
125

100

75
50

25

1 2 3 4 5
Number of Snowboarders (n)

Write th-eFez‘P{Cz_rlu% d = 95
£ry=15t 35 On)
OR
£n\=50135n

© Elena Fieryheels/Shutterstock.com

n fn)
0O |50
1 115
211006
3 |15
4 | 190

Draw a line connecting the data points. What is the y-intercept? What is the slope? Write an

equation of the line in slope-intercept form.

8—\'nt€rt€|?t =S50

Slope = 24S)

What do you notice about the answers in Parts B and C? Explain (use m and d in your

response).

The d equakion§ are the sSome.

'ter‘m Q)

l:]-in’c =

Slope ()= common difference (d)
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6. Consider the sequence that follows a plus 3 pattern: 4, 7, 10, 13, 16, ... ..

A. Write a formula for the sequence using the f(n) notation. _FC\B = '*-\ d = 3

LY = 4+ 30
OR
£NY=3n +|

B. Does the formula f(n) = 3(n — 1) +f;_generate the same sequence? Why might some

people prefer this formula?/X___ 7 T'hf:j \.U*Ere\]»{&t SU\H‘[‘C}'\Q:‘.

‘jes, Eis similor to U:mx*b form

C. Graph the terms of the sequence as ordered pairs (n, f(n)) on the coordinate plane.
What do you notice about the graph?

Tk (s linear

fin)
20

15

v
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7. Consider a sequence that follows a minus 5 pattern: 30, 25, 20, 15, . ...

A. Write a formula for the nt" term of the sequence. Be sure to specify what value of n your

formula starts with. -PC[\ =30 d :—-5
’FCF\S = 30- SCF\—\S

B. Using the formula, find the 20" term of the sequence.

FC20)= 30—5(7_0-13
= 306-5019)
= 30-95
Fon -5

C. Graph the terms of the sequence as ordered pairs (n, f(n)) on the coordinate plane.

fin) A
30— o

) e e e e e

15=—F—++Ft+++
) 7 o e s s ey e s e e
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Challenge Problems 8-16

Find an explicit form f(n) for each of the following arithmetic sequences (assume a is some real
number and x is some real number).

8. —34,-22,-10,2, ...

£lry= -34 + 1D
OR

£Gny= 1an-4b

10. x+4,x+ 8, x+ 12, x + 16, ...

£n)=x+4 +4(n-1)
OR

Fr=X+4n

/11./a,2a+1,3a+2,4a+3,...

12. Consider the arithmetic sequence 13, 24, 35, ...

A. Find an explicit form for the sequence in terms. of n.

£y = 13 #11(n=1)
-F(r\\= [In42

B. Find the 40%" term.

£(40)= 11¢H0d+2
f(yo) = Y42

C. Ifthe nt" term is 299, find the value of n.

29%= lln+a

[n=a] £(3:1)= 399
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/A’ —2,a, b, ¢, 14 forms an arithmetic sequence, find the values of g, b, and c.

147 3 + x,9 + 3x, 13 + 4x, ... is an arithmetic sequence for some real number x.

A. Find the value of x.
B. Find the 10" term of the sequence.

Find an explicit form f(n) of the arithmetic sequence where the 2" term is 25 and the sum of

the 3 term and 4™ term is 86.

6. In the right triangle figure below, the lengths of the sides a cm, b cm, and ¢ cm of the right
triangle form a finite arithmetic sequence. If the perimeter of the triangle is 18 cm, find the

values of g, b, and c.



